WATERPROOF D-5UB
CONNECTOR




WATERPROOF D-5UB CONNECTOR

SPECIFICATION

Standard D-Sub: 5A
High Density D-SUB: 3A ~ 5A

CURRENT RATING

Standard & High Density D-Sub: IP67
Combo D-Sub: IP68

TEMPERATURE RANGE

CONTACT RESISTANCE 30mQ Max.
DIELECTRIC 1000 VAC

WITHSTANDING VALTAGE

USA TEL: 1-510-979-2188 TAIWAN TEL: 886-2-2755-3193
FAX: 1-510-979-2189 FAX: 886-2-2784-5109



WATERPROOF D-5UB CONNECTOR

DIMENSION
STANDARD D-SUB

MALE FEMALE

21.10

{@4

. — 9 i 0000000000009 s —
= 000000000000

A A
B 9.80 B 9.65
C 3.85 C i ‘580
= o ‘
2 34 ooooooooooooo } g = S LTI TTTTT I
wntﬁu P = Eoioooooeioooooj N ©600006/060000
-rd

N
nnnnfinnnnn
WDB930-Sc : ; o
¢ 3.85 £ 3.85
g [ os000ofosooos w\ %t S “\ Zoe0069000008) JJ L
= l | Fosocghosscs | J 2 = W (860665658664 YJ
GENDER PART NoM NO. OF CONTACT A B c . FLANGE MOUNTING OPTION
09Gf—_K 9 PIN 39.50 25.00 s
MATERIAL P 16.90 o: #4-40 THREAD HOLE
. M156f—_K 15 PIN 48.00 33.30 25.25 1t #4-40 THREAD HOLE
CONTACT: BRASS MALE | WDB9SO0- | P WITH $4—40UNC SCREWLOCK
INSULATOR: PBT, UL94V-0 RATED M256f-_K 25 PIN 61.50 47.05 38.95 LR AU
SHELL: COLD ROLLER STEEL Se | M376f- K 37 PIN 77.80 63.50 55.40 M3S: WITH M3 SCREWLOCK
WATERTIGHT FRAME: ';%{g;”é—f:‘é'l% o | FOIGI-_K 9 PIN 3950 | 2500 | 1630
O-RING: SILICONE cevALE | WDB950— | pg | F1O8T=K 15 PIN 48.00 33.30 24.60
EPOXY SEALANT: EPOXY F256f—_K 25 PIN 61.50 47.05 38.40
S | F376f—_K 37 PIN 77.80 63.50 54.80

USA TEL: 1-510-979-2188 TAIWAN TEL: 886-2-2755-3193
FAX: 1-510-979-2189 FAX: 886-2-2784-5109



WATERPROOF D-5UB CONNECTOR

WDB931-P

WDB961-Pa

MATERIAL

CONTACT: BRASS

INSULATOR: PBT, UL94V-0 RATED

SHELL: COLD ROLLER STEEL

METAL WATERTIGHT FRAME: PBT GF
UL94V-0, COLOR: BLACK

O-RING: SILICONE

EPOXY SEALANT: EPOXY

STANDARD D-SUB

21.00

nnononnornn
A , A .
B 6.10 B 5.80
c 3.85 c ‘ *ﬂ
Alcoocooso00000 ml 8 [m (ecococceccoeon) m]
S coc060066060600 MJ = lw (656060066066046 ) MJ
A A
B 9.95 . B 9.65
C 6.10 C 5.80
-
2 # (66cco06000000) /A
a w 60000000 BO0O W
2.84
6.45 6.45
GENDER PART NO. NO. OF CONTACT A B c L FLANGE MOUNTING GFTION
MO9GT—_K 9 PIN 39.50 25.00 16.90 0: #4—40 THREAD HOLE
e WDB951-P M15Gf—_K 15 PIN 48.00 33.30 25.25 1: #4-40 THREAD HOLE
WITH #4—40UNC SCREWLOCK
_ 25Gf—_K . . 38.95
WDB961~Pa M E 25 PIN 61.50 4705 M3: M3 THREAD HOLE
M37Gf—_K 37 PIN 77.80 63.50 55.40 M3S: WITH M3 SCREWLOCK
FD9GF—_K 9 PIN 39.50 25.00 16.30
WpB9S1-P F156f—_K 15 PIN 48.00 33.30 24.60
FEMALE
WDB961_Pa F256f—_K 25 PIN 61.50 47.05 38.40
F376f-_K 37 PIN 77.80 63.50 54.80

USA TEL:

1-510-979-2188
FAX: 1-510-979-2189

TAIWAN TEL: 886-2-2755-3193
FAX: 886-2-2784-5109




WATERPROOF D-5UB CONNECTOR

HIGH DENSITY D-SUB

9.85 9.55
3.85 3.85
8
=
WHDBY30P-Pa :
6.10 B 5,90
4.00 C 4.00
b Siidds =
|o 2.54 L 2.54
254 2.54
5.89 5.89
WHDB930-Sc A
6.10 B 5.80
3.85 c 3.85

GENDER PART NO. NO. OF CONTACT A B c T ——
MATERIAL M15Gf—_K 15 PIN 3950 | 2500 | 16.90 0: #4—40 THREAD HOLE
CONTACT: BRASS VALE mgggggg:go M26Gf—_K 26 PIN 4800 | 3330 | 2525 I #4-40 THREAD HOLE
INSULATOR: PBT, UL94V-0 RATED WHDB930-Sc M446f-_K 44 PIN 61.50 47.05 | 3895 Msmes #HA:{E?ESJN}-C{OLSECREWLOCK
SHELL: COLD ROLLER STEEL MB26f—_K 62 PIN 7780 | 6350 | 5540 M3S: WITH M3 SCREWLOCK
WATERTIGHT FRAME: PBT GF UL94V-0, F150f—_K 15 PIN 39.50 5,00 16,30

COLOR: BLACK WHDBS50P-P F2BGf—_K 26 PIN 48.00 3330 | 24.60
O-RING: SILICONE FEMALE | WHDB930P—Pa = : : -
EPOXY SEALANT: EPOXY WHDB930-Sc F44Gf-_K 44 PIN 61.50 47.05 38.40

F626f—_K 62 PIN 7780 | 6350 | 5480

21.00

f

(eees\ioses)

O ©

21.00

USA TEL: 1-510-979-2188 TAIWAN TEL: 886-2-2755-3193
FAX: 1-510-979-2189 FAX: 886-2-2784-5109



WATERPROOF D-5UB CONNECTOR

WCDB101-PaFITW2Gf (FRMALE) WCDB102-PaF1TW26Gf (FRMALE)

bl AL
I 1 I 1
61.85 64.50
47.04 47.04

38.30 5.80 38.30 — 580

27.70 450 27.70 385
1 |

CaRY T YT Wany | (] FN 5299998

E &EW J/@} L - J@&’ 40060 e *}

1.42

20.90
|

21.00

1.42

WATERTIGHT FRAME: Zn3# D28 2 WATERTIGHT FRAME: PBT+30%G.F 1023] [ 28t

WCDB201-PM1TW26f (MALE) WCDB201-PFITW2Gf (FRMALE)

1140

)
8
<
EA@#MMMM =l SlE
1 1 =1 (I [
noAnAAnNAnNn = o
- S
= =
$3.70

o185 5185 ‘
47.04 47,04

3895 6.10 38.50

27.7040.08 4.50 27.70
-

: i

11,30

WATERTIGHT FRAME: Zn3# WATERTIGHT FRAME: Zn3#

20.90
20.90

U%U

WCDB202-PM17W2Gf (MALE)

“"%Mmmwmu\&
[ I}
nnnnnnonnnn E
$3.70 —
64.58
MATERIAL 420t .
CONTACT: BRASS 2170 R
INSULATOR: PBT, UL94V-0 RATED )
SHELL: COLD ROLLER STEEL s
0-RING: SILICONE 2] i
EPOXY SEALANT: EPOXY
11,30

WATERTIGHT FRAME: PBT+30%G.F

USA TEL: 1-510-979-2188 TAIWAN TEL: 886-2-2755-3193
FAX: 1-510-979-2189 FAX: 886-2-2784-5109



WATERPROOF D-5UB CONNECTOR

DIMENSION
FIELD INSTALLABLE

039
=
o)
0sd
30| «
525
099
58
ca2
99
DIMENSION
CONNECTOR PART NUMBER A B (H)DBWJOOT=XX=X
NO. OF CONTACTS
DBWJO01-09—-_ 9PIN 4255 M12x1.25 A SCREW TYPE, $#4-40
B: SCREW TYPE, M3
SEANSDG\SD DBWJOO1 15— _ 15PIN 50.87 M13x1.25
DBWJOO1-25-_ 25PIN 64.59 M14x1.25 09: 09 PIN
15: 15 PIN
DBWJOO01~37-_ 37PIN 81.05 M15x1.25 26: 25 PIN
37: 37 PIN
DBWJOOT-50—_ 50PIN 78.85 M18x1.25 50: 50 PIN
HDBWJOO1—15-_ 15PIN 4255 M12x1.25
HDBWI001-26—_ 26PIN 50.87 M13x1.25
H‘G*[‘)gEUNBS‘W HDBWJOO1—44—_ 44PIN 64,59 M14x1.25
HDBWJOO1—62—_ 62PIN 81.05 M15x1.25
HDBWJOO1~78—_ 78PIN 78.85 M18x1.25

ASSEMBLY DRAWING

— SCREW (X2)

HARNESS SCREW
b — WASHER 1 (X2)
WASHER 2

COVER

SOFT RUBBER

USA TEL: 1-510-979-2188 TAIWAN TEL: 886-2-2755-3193
FAX: 1-510-979-2189 FAX: 886-2-2784-5109



